DIFFERENTIATION UNDER INTEGRAL SIGN

- Many a times we use the standard rules of integral calculus for evaluating some of the definite integrals.
- However, in certain cases where the standard rules do not work, the concept of differentiation under integral sign is used for evaluation of some of the definite integrals.
- If the function under integral sign satisfies certain conditions, then we can differentiate the given function under the integral sign and from the resulting function we can obtain the required integral.
- This is known as differentiation under integral sign abbreviated as **D.U.I.S.**

RULE

- If $f(x, \alpha)$ is a continuous function of x, and α is a parameter and
- if $\frac{\partial f}{\partial \alpha}$ is a continuous function of x and α together throughout the interval [a, b] where a, b are constant and independent of α and

1

• if
$$I(\alpha) = \int_{a}^{b} f(x, \underline{\alpha}) d\underline{x}$$
 then $\frac{dI}{d\alpha} = \int_{a}^{b} \frac{\partial f}{\partial \alpha} dx$

1) P.T
$$\int_0^1 \frac{x^{\alpha} - 1}{\log x} dx = \log(1 + \alpha)$$
, $\alpha \ge 0$ Hence, evaluate $\int_0^1 \frac{x^7 - 1}{\log x} dx$

$$\underline{J}(\underline{x}) = \int \frac{n^{\alpha} - 1}{\log n} \, dn \qquad (1)$$

By the rule of DUIS, differentiating wrt
$$\alpha$$

$$\frac{dI}{d\alpha} = \int \frac{1}{\log n} \left[n^{\alpha} \log n \right] dn = \int n^{\alpha} dn$$

$$0$$

$$\frac{dI}{dx} = \int \frac{1}{10\pi} \left[\frac{\pi^{x} \log \pi}{\pi^{y} d\pi} \right] d\pi = \int \pi^{x} d\pi$$

$$\therefore \frac{dI}{dx} = \left[\frac{\pi^{x+1}}{\pi^{y+1}} \right]_{0}^{1} = \frac{1}{\pi^{y+1}} - 0 = \frac{1}{\pi^{y+1}}$$

$$\therefore dJ = \left(\frac{1}{\pi^{y+1}} \right) d\pi$$

$$Ih \text{ tegrating both sides}$$

$$I = \int \frac{1}{\pi^{y+1}} d\pi$$

$$I(\pi) = \log(\pi + 1) + C$$

$$put = \pi = 0$$

$$I(\pi) = \log(\pi + 1) + C$$

$$\therefore C = I(\pi)$$

$$I(\pi) = \log(\pi + 1) + C$$

$$\int \frac{\pi^{x} - 1}{\log \pi} d\pi = 0$$

$$\therefore C = 0$$

$$\therefore I(\pi) = \log(\pi + 1)$$

$$\int \frac{\pi^{y-1}}{\log \pi} d\pi = \log(\pi^{y+1})$$

-

$$\frac{p_{ut}}{n} = \frac{q}{n^{2}-1}$$

$$\int \frac{n^{2}-1}{\log n} dn = \log(2+1) = \log(2)$$

2) PROVE THAT
$$\int_{0}^{\infty} \frac{e^{-x}}{x} (1 - e^{-ax}) dx = \log(1 + a)$$
, where $a > -1$
Sol^h:
 $(et \quad I(a) = \int_{0}^{\infty} \frac{e^{-x}}{x} (1 - e^{-ax}) dx$ (1)
By DUIS, differentiating work a
 $\frac{dI}{da} = \int_{0}^{\infty} \frac{e^{-x}}{x} (0 - e^{ax}(-x)) dx$
 $= \int_{0}^{\infty} \frac{e^{-x}}{x} (\pi e^{ax}) dx = \int_{0}^{\infty} \frac{e^{(1+a)x}}{dx}$
 $= \left(\frac{e^{-(1+a)x}}{-(1+a)}\right)_{0}^{\infty} = \left(0 - \frac{1}{-(1+a)}\right)$
 $\therefore dI = \frac{1}{a}$

$$dI = \frac{1}{1+a} da$$

$$Integrating both sides$$

$$I = \int \frac{1}{1+a} da = \log(1+a) + C$$

$$I = \int_{1+a}^{1} da = \log(1+a) + C$$

$$J(a) = \log(1+a) + C$$

$$put = 0, \quad J(a) = \log(1) + C$$

$$\therefore c = J(a)$$

$$but from (1), \quad J(a) = \int_{0}^{\infty} \frac{e^{2t}}{2t} (1-1) dt = 0$$

$$0$$

$$\int_{-\infty}^{\infty} \frac{e^{\gamma}}{\pi} \left(1 - e^{\alpha\gamma}\right) d\eta = \log(1 + \alpha)$$

3) Prove that
$$\int_{0}^{\infty} e^{-ax} \cdot \frac{\sin mx}{x} dx = tan^{-1} \left(\frac{m}{a}\right)$$
 (a is a parameter) Given: $\int_{0}^{\infty} \frac{\sin mx}{x} dx = \frac{\pi}{2}$
 501^{n} : Let $I(\alpha) = \int_{0}^{\infty} e^{\alpha x} \cdot \frac{\sin mm}{n} dn$ (1)
Using DUIS, differentiating writh α
 $\frac{dI}{da} = \int_{0}^{\infty} \frac{\sin mm}{n} \left(\frac{e^{\alpha x}}{e^{\alpha x}} \left(-\pi\right)\right) dn$

$$= -\int_{0}^{\infty} \sin m e^{\alpha n} dn$$

$$= -\int_{0}^{\infty} \sin m e^{\alpha n} dn$$

$$= -\left[\frac{e^{\alpha n}}{a^{2} + m^{2}}\left(-a \sin m - m \cos mn\right)\right]_{0}^{\infty}$$

$$\int e^{\alpha} \sinh \alpha d\alpha = \frac{e}{a^2 + b^2} \left[\alpha \sinh \alpha - b \cosh \beta \right]$$

$$\frac{d\Gamma}{d\alpha} = \frac{-1}{\alpha^2 + m^2} \left[O - \left(-\alpha(0) - m(1) \right) \right]$$

$$dI = -m$$

 $da = a^2 tm^2$

$$dI = -\frac{m}{\alpha^2 + m^2} d\alpha$$

Integrating both sides wrta

$$\Gamma(a) = \int \frac{-m}{a^2 + m^2} da = -m \cdot \frac{1}{m} \tan^2\left(\frac{a}{m}\right) + c$$

$$J(a) = - \tan^{-1}\left(\frac{a}{m}\right) + c$$

put a = 0

$$I(0) = -ton'(\frac{0}{m}) + C$$

$$: c = I(0)$$

$$but I(0) = \int_{0}^{\infty} \frac{sinm\pi}{n} dn \quad (from 6)$$

$$= \frac{\pi}{2} \quad (from given data)$$

$$f(a) = \frac{\pi}{2}$$

$$f(a) = -\frac{\tan^{2}\left(\frac{a}{m}\right) + \frac{\pi}{2}}{\int (a) = \tan^{2}\left(\frac{a}{m}\right)}$$

4) Prove that $\int_0^\infty \frac{e^{-x}}{x} \left(a - \frac{1}{x} + \frac{1}{x} e^{-ax} \right) dx = (1+a) \log(1+a) - a$

Solution let
$$I(a) = \int_{0}^{\infty} \frac{e^{n}}{n} \left(a - \frac{1}{n} + \frac{1}{n} e^{an}\right) dn$$
 (1)
By $D \cup IS$, Differentiating work a
 $\frac{dI}{da} = \int_{0}^{\infty} \frac{e^{n}}{n} \left(1 - 0 + \frac{1}{n} \left(e^{an} \cdot (-n)\right)\right) dn$

$$\frac{dI}{da} = \int_{0}^{\infty} \frac{e^{n}}{n} \left(1 - e^{\alpha n}\right) dn \qquad \bigcirc$$

Apply DUIS again, differentiating with a $\frac{d^{2}\Gamma}{da^{2}} = \int_{0}^{\infty} \frac{e^{\pi}}{\pi} \left(0 - e^{\alpha m} (-m) \right) dm$ $= \int_{0}^{\infty} \frac{e^{(1+\alpha)\pi}}{e^{\alpha m}} dm = \left(\frac{e^{-(1+\alpha)\pi}}{e^{(1+\alpha)}} \right)_{0}^{\infty}$

$$= \left[0 - \frac{1}{-(1+\alpha)} \right] = \frac{1}{1+\alpha}$$

$$\frac{d^2 I}{da^2} = \frac{1}{1+a}$$

Integrate wrt a

$$\frac{dI}{da} = \int \frac{1}{1+a} da = \log(1+a) + C$$

$$\int \frac{dI}{da}(0) = \log(1) + c \implies c = \frac{dI}{da}(0)$$

$$\frac{d\alpha}{d} = \frac{d\Gamma}{d} = \frac{d\sigma}{d}$$

Using (2)
$$\frac{d\Gamma}{da}(o) = \int_{0}^{\infty} \frac{e^{2t}}{2t} (1-1) dt = 0$$

 $\therefore C = 0$
 $\therefore \left(\frac{d\Gamma}{da} = \log(1+a)\right)$
Integrating again wrth a
 $I(a) = \int \log(1+a) da$
Integrating by parts
 $= \log(1+a) \int 1 da - \int \frac{1}{1+a} \cdot (a) da$
 $= \alpha \log(1+a) - \int \frac{\alpha}{1+a} da$
 $= \alpha \log(1+a) - \left[\int 1 da - \int \frac{1}{1+a} da\right]$
 $= \alpha \log(1+a) - \left[\int 1 da - \int \frac{1}{1+a} da\right]$
 $= \alpha \log(1+a) - \left[\left(1 - \log(1+a)\right)\right] + C_1$
 $I(a) = \alpha \log(1+a) - \alpha + \log(1+a) + C_1$
 $I(b) = \log(1) + C_1 \Rightarrow C_1 = I(a)$

-·· -

put
$$a=0$$
 in (1) we get $I(0)=0$
 $\therefore C_1=0$
 $\therefore I(0)= C_1\log(1+\alpha) - \alpha + \log(1+\alpha)$
 $I(0) = (1+\alpha)\log(1+\alpha) - \alpha$

5) Prove that
$$\int_{0}^{\pi} \frac{\log(1+\alpha\cos x)}{\cos x} dx = \pi \sin^{-1}a, \ 0 \le a < 1$$

Solt: $I(\alpha) = \int_{0}^{\pi} \frac{\log(1+\alpha\cos n)}{\cos n} dn$ (1)
By DUIS, Differentiating wrth α
 $\frac{dI}{d\alpha} = \int_{0}^{\pi} \frac{1}{(\cos n)(1+\alpha\cos n)} dn$, cosn dn
 $\frac{dI}{d\alpha} = \int_{0}^{\pi} \frac{1}{(\cos n)(1+\alpha\cos n)} dn$
 $\frac{dI}{d\alpha} = \int_{0}^{\pi} \frac{1}{(1+\alpha\cos n)} dn$
 $\frac{dI}{d\alpha} = \int_{0}^{\pi} \frac{1}{(1+\alpha\cos n)} dn$
 $\rho wt fan \frac{n}{2} = t, \ dn = \frac{2dt}{1+t^{2}}$
 $\cos n = \frac{1-t^{2}}{1+t^{2}}$
when $n = 0, \ t = 0$, when $n = \pi i, \ t = \infty$
 dI

$$\frac{dJ}{da} = \int_{0}^{\infty} \frac{1}{1+o\left(\frac{1-t^{2}}{1+t^{2}}\right)} \cdot \frac{2}{1+t^{2}} \frac{dt}{1+t^{2}}$$

$$= \int_{0}^{\infty} \frac{1+t^{2}}{(1+t^{2})+a\left(1-t^{2}\right)} \cdot \frac{2}{1+t^{2}} \frac{dt}{1+t^{2}}$$

$$= \int_{0}^{\infty} \frac{2}{2} \frac{dt}{(1+o)+(1-a)t^{2}} = \frac{1}{1-a} \int_{0}^{\infty} \frac{2}{(\frac{1+a}{1-a})+t^{2}}$$

$$= \frac{2}{1-a} \sqrt{\frac{1-a}{1+a}} \left(\frac{tan^{-1}}{1+a} \int_{0}^{1-a} \int_{0}^{\infty} \frac{1}{a} \frac{dn}{t^{2}+t^{2}} \right)$$

$$= \frac{2}{\sqrt{1-a^{2}}} \left(\frac{11}{2} \right) = \frac{11}{\sqrt{1-a^{2}}}$$

$$\frac{dI}{da} = \frac{11}{\sqrt{1-a^{2}}}$$

$$Integrating wrt a$$

$$I(a) = \int \frac{11}{\sqrt{1-a^{2}}} da = 11 \sin^{-1} a + c$$

$$To find C, put a = 0$$

$$I(a) = T \sin^{-1} (a) + c$$

~

=)
$$c = J(o)$$

from (1), $J(o) = 0$
 $\therefore c = 0$
 $\therefore J(o) = Ti Sin'(o)$

6) Prove that
$$\int_0^{\pi/2} \frac{\log(1+a\sin^2 x)}{\sin^2 x} dx = \pi \left[\sqrt{a+1} - 1 \right], a > -1.$$

• Let $I(a) = \int_0^{\pi/2} \frac{\log(1 + a \sin^2 x)}{\sin^2 x} dx$

- By the rule of differentiation under the integral sign
- $\therefore \frac{dI}{da} = \int_0^\pi \frac{\partial f}{\partial a} dx = \int_0^{\pi/2} \frac{1}{1 + a \sin^2 x} \cdot \frac{\sin^2 x}{\sin^2 x} dx$
- = $\int_0^{\pi/2} \frac{1}{1 + a \sin^2 x} dx$ [Dividing by $\cos^2 x$]
- = $\int_0^{\pi/2} \frac{\sec^2 x}{\sec^2 x + a \tan^2 x} dx = \int_0^{\pi/2} \frac{\sec^2 x}{1 + (1 + a) \tan^2 x} dx$
- Putting $t = \tan x$ $\therefore dt = \sec^2 x \, dx$
- When x = 0, t = 0; when $x = \pi/2$, $t = \infty$

•
$$\frac{dI}{da} = \int_0^\infty \frac{dt}{1 + (1 + a)t^2}$$

•
$$\frac{dl}{da} = \frac{1}{a+1} \int_0^\infty \frac{dt}{\left[\sqrt{\frac{1}{(a+1)}}\right]^2 + t^2}$$

- $= \frac{1}{a+1} \left[\sqrt{a+1} \cdot \tan^{-1} \left(t \sqrt{a+1} \right) \right]_0^{\infty} = \frac{1}{\sqrt{a+1}} \cdot \frac{\pi}{2}$
- Integrating w.r.t. *a*, we get,

•
$$I(a) = \frac{\pi}{2} \int \frac{dx}{\sqrt{a+1}} = \pi \sqrt{a+1} + c$$

•

- Putting a = 0, we get, $I(0) = \pi + c$
- But $I(0) = \int_0^{\pi/2} \frac{\log(1)}{\sin^2 x} dx = 0$ $\therefore c = -\pi$ $\therefore I(a) = \pi \sqrt{a+1} - \pi = \pi \left[\sqrt{a+1} - 1 \right]$.

7) Prove that $\int_{0}^{\infty} e^{-x^{2}} \cos ax \, dx = \frac{\sqrt{\pi}}{2} e^{-a^{2}/4}$, Given: $\int_{0}^{\infty} e^{-x^{2}} dx = \frac{\sqrt{\pi}}{2}$ Soln: Let $\int (\sigma) = \int_{0}^{\infty} e^{-n^{2}} (\cos \sigma n \, dn)$ (1) $A \rho \rho^{1} y$ DUJS $\frac{dJ}{d\sigma} = \int_{0}^{\infty} e^{-n^{2}} (-\sin \sigma n (n)) \, dn$ $= -\int_{0}^{\infty} e^{-n^{2}} \cdot n \sin \sigma n \, dn$ $= \int_{0}^{\infty} (\sin \sigma n) (e^{-n^{2}} (-n)) \, dn$

Integrating by parts
dJ
dJ = sinon
$$\int_{0}^{\infty} e^{n^2}(-m) dm - \int_{0}^{\infty} c_1 coson \int_{0}^{\infty} e^{n^2}(-m) dm$$

$$\begin{cases} \int e^{\pi^2}(-\pi) d\pi = \int e^{t} dt = \frac{1}{2}e^{t} = \frac{1}{2}e^{\pi^2} \\ p \omega - \pi^2 = t \\ -2\pi d\pi = dt \end{cases}$$

$$\frac{dI}{da} = \left[sinam \left(\frac{e^{-\pi 2}}{2} \right) \right]_{D}^{\infty} - \int acoscon \left(\frac{e^{-\pi 2}}{2} \right) d\pi$$

$$\frac{da}{da} = \begin{bmatrix} 1 & (-\frac{1}{2}) \end{bmatrix}_{0}^{2} & \int_{0}^{2} acond(\frac{1}{2}) acond(\frac{1}{2}) acond(\frac{1}{2}) \\ \frac{dI}{da} = -\frac{a}{2} \int_{0}^{\infty} e^{\pi 2} coson dn \\ \frac{dI}{da} = -\frac{a}{2} I(a) \\ \frac{dI}{I} = -\frac{a}{2} da \\ In Aegrating both sides \\ log [I(as)] = -\frac{a^{2}}{4} + log C \\ log (\frac{1}{C}) = -\frac{a^{2}}{4} \\ \frac{I}{C} = e^{a^{2}/4} \Rightarrow I(as) = c e^{a^{2}/4} \\ \frac{I}{C} = e^{a^{2}/4} \Rightarrow I(as) = c e^{a^{2}/4} \\ put a = 0 \\ I(as) = C \\ but from (D) I(as) = \int_{0}^{\infty} e^{\pi^{2}} dn$$

$$= \frac{\sqrt{\pi}}{2} (by given data)$$

_

$$\therefore C = \int \frac{\pi}{2}$$

 $\therefore I(a) = \int \frac{\pi}{2} e^{-a^2/4}$

8) Prove that $\int_0^\infty \frac{tan^{-1}ax}{x(1+x^2)} dx = \frac{\pi}{2}\log(1+a)$

- Let $I(a) = \int_0^\infty \frac{tan^{-1}ax}{x(1+x^2)} dx$
- By the rule of differentiation under integral sign

•
$$\frac{dl}{da} = \int_{0}^{\infty} \frac{\partial f}{\partial a} dx = \int_{0}^{\infty} \frac{1}{x(1+x^2)} \cdot \frac{x}{(1+a^2x^2)} dx$$

• $= \frac{1}{1-a^2} \int_{0}^{\infty} \left[\frac{1}{1+x^2} - \frac{a^2}{1+a^2x^2} \right] dx$

[By partial differentiation]

- $\frac{dI}{da} = \frac{1}{1-a^2} \left[\tan^{-1} x a \tan^{-1} ax \right]_0^\infty$
- $= \frac{1}{1-a^2} \left[\frac{\pi}{2} a \cdot \frac{\pi}{2} \right] = \frac{\pi}{2} \cdot \frac{1}{1+a}$
- Integrating both sides w.r.t. a

•
$$I(a) = \frac{\pi}{2}\log(1+a) + a$$

- To find *c*, we put a = 0 $\therefore I(0) = \frac{\pi}{2}\log(1) + c = c$
- But $I(0) = \int_0^\infty \frac{tan^{-1}0}{x(1+x^2)} dx = \int_0^\infty 0 \, dx = 0 \quad \therefore c = 0$
- $\therefore I(a) = \frac{\pi}{2}\log(1+a)$

•
$$\therefore \int_0^\infty \frac{tan^{-1}ax}{x(1+x^2)} dx = \frac{\pi}{2}\log(1+a)$$

9) Prove that

$$\int_{0}^{x} \frac{dx}{(x^{2}+a^{2})^{2}} = \frac{1}{2a^{3}} \tan^{-1}\left(\frac{x}{a}\right) + \frac{x}{2a^{2}(x^{2}+a^{2})}$$

$$\overset{\chi}{n}$$

$$\overset{\chi}{n} := \frac{1}{a} \tan^{-1}\left(\frac{x}{a}\right) + \frac{x}{2a^{2}(x^{2}+a^{2})}$$

$$\overset{\chi}{n}$$

By Rule of DUFS, differentiating with a

$$\int_{0}^{N} \frac{\partial}{\partial a} \left(\frac{1}{n^{2}+o^{2}}\right) dn = \frac{d}{da} \left(\frac{1}{a} \tan^{1}\left(\frac{\pi}{a}\right)\right)$$

$$\int_{0}^{\infty} \frac{-2a}{(n^{2}+o^{2})^{2}} dn = \frac{-1}{o^{2}} \tan^{1}\left(\frac{\pi}{a}\right) + \frac{1}{a} \cdot \frac{1}{1+(n^{2}|o^{2})} \left(\frac{\pi}{o^{2}}\right)$$

$$\int_{0}^{\infty} \frac{-2a}{(n^{2}+o^{2})^{2}} dn = \frac{-1}{o^{2}} \tan^{1}\left(\frac{\pi}{a}\right) - \frac{\pi}{a} \cdot \frac{1}{o^{2}+m^{2}}$$

$$\int_{0}^{\infty} \frac{d\pi}{(n^{2}+o^{2})^{2}} = \frac{1}{2a^{3}} \tan^{1}\left(\frac{\pi}{a}\right) + \frac{\pi}{2o^{2}(a^{2}+m^{2})}$$

0

10) Prove that $\int_{0}^{\infty} \frac{tan^{-1}(x/a) - tan^{-1}(x/b)}{x} dx = \frac{\pi}{2} \log\left(\frac{b}{a}\right) \text{ where } a > 0, b \ge a$ $\underbrace{\int_{0}^{\infty} \frac{tan^{-1}(x/a) - tan^{-1}(x/b)}{x} dx}_{0} = \int_{0}^{\infty} \frac{tan^{-1}(\pi/a) - tan^{-1}(\pi/b)}{\pi} d\pi \quad (1)$

Apply DUJS, differentrate with a

$$\frac{dI}{da} = \int_{0}^{\infty} \frac{1}{\pi} \frac{\partial}{\partial a} \left(tan'(\frac{m}{\partial}) - tan'(\frac{m}{\partial}) \right) dx$$

$$\int_{0}^{\infty} \frac{1}{\pi} \frac{\partial}{\partial a} \left(tan'(\frac{m}{\partial}) - tan'(\frac{m}{\partial}) \right) dx$$

$$= \int_{0}^{\infty} \frac{1}{\pi} \cdot \frac{1}{1 + \left(\frac{\pi^{2}}{\sigma^{2}}\right)} \cdot \left(\frac{\pi}{\sigma^{2}}\right) d\pi$$

$$= \int_{0}^{\infty} \frac{-d\pi}{\pi^{2} + \sigma^{2}} = -\left[\frac{1}{\sigma} t \sigma r^{1} \left(\frac{\pi}{\sigma}\right)\right]_{0}^{\infty}$$

$$\frac{dJ}{d\sigma} = -\left[\frac{1}{\sigma^{2}} - 0\right] = -\frac{1}{\sigma} \frac{\pi}{2}$$

$$dJ = -\frac{\pi}{2} \frac{1}{\sigma^{2}} d\alpha$$

$$In \text{ Aregrating both sides}$$

$$J(\sigma) = -\frac{\pi}{2} \log \alpha + c$$

$$To find c, put a = b$$

$$I(b) = -\frac{\pi}{2} \log b + c$$
but from \bigcirc , $I(b) = \int_{0}^{\infty} 0 d\pi = 0$

$$\therefore c = \frac{\pi}{2} \log b$$

$$\therefore I(\sigma) = -\frac{\pi}{2} \log a + \frac{\pi}{2} \log b$$

$$I(\sigma) = -\frac{\pi}{2} \log a + \frac{\pi}{2} \log b$$

11) Prove that $\int_0^\infty x e^{-ax} \sin bx \, dx = \frac{2ab}{(a^2+b^2)^2}$

$$\underbrace{\operatorname{Soih}}_{0} \int e^{\alpha} \operatorname{Sinbr} dn = \left\{ \frac{e^{\alpha}}{\alpha^2 + b^2} \left(-\alpha \operatorname{Sinbn} - b \cos bn \right) \right\}_{0}^{\infty}$$

$$= \frac{1}{a^{2}+b^{2}} \left[0 - \left(-a(o) - b(1) \right) \right]$$

$$\int e^{cm} \sinh b dx^2 = \frac{b}{c^2 + b^2}$$

$$\int_{0}^{\infty} \frac{\partial}{\partial a} \left(e^{\alpha y} \operatorname{sin} b y \right) dm = \frac{d}{da} \left(\frac{b}{a^2 + b^2} \right)$$

$$\int_{0}^{\infty} (-\pi) e^{\alpha x} \sinh \alpha d\pi = -\frac{b}{(a^{2} + b^{2})^{2}} \cdot 2\alpha$$

$$\int_{0}^{\infty} x e^{\alpha x} \sinh \alpha d\pi = \frac{20b}{(a^{2} + b^{2})^{2}}$$

12) By differentiating $\int_0^\infty \frac{dx}{x^2 + a^2} = \frac{\pi}{2a}$ w.r.t a under the integral sign successively,

prove that
$$\int_0^\infty \frac{dx}{(x^2+a^2)^{n+1}} = \frac{(2n)!\pi}{2^{2n+1}.(n!)^2a^{2n+1}}$$

- Consider $\int_0^\infty \frac{dx}{(x^2+a^2)} = \frac{\pi}{2a}$
- we apply the rule of DUIS Differentiating both sides w.r.t. *a*,

•
$$\int_0^\infty \frac{-2adx}{(x^2+a^2)^2} = \frac{-\pi}{2a^2}$$

- $\therefore \int_0^\infty \frac{dx}{(x^2+a^2)^2} = \frac{\pi}{2^2a^3} = \frac{2!\pi}{2^3(1!)^2a^3}$ (1)
- Again by the rule of DUIS $\int_0^\infty \frac{-2 \cdot 2a}{\left(x^2 + a^2\right)^3} dx = \frac{\pi}{2^2} \cdot \frac{(-3)}{a^4}$
- $\therefore \int_0^\infty \frac{dx}{(x^2+a^2)^3} = \frac{\pi \cdot 1 \cdot 3}{2^4 \cdot a^5} = \frac{4! \pi}{2^5 (2!)^2 a^5}$ (2)
- Again by the rule of DUIS $\int_0^\infty \frac{-3\cdot 2a}{\left(x^2+a^2\right)^4} dx = \frac{\pi\cdot 1\cdot 3\cdot (-5)}{2^4\cdot a^6}$
- $\therefore \int_0^\infty \frac{dx}{(x^2+a^2)^4} dx = \frac{\pi \cdot 1 \cdot 3 \cdot 5}{2^4 \cdot 2 \cdot 3 \cdot a^7} = \frac{1 \cdot 2 \cdot 3 \cdot 4 \cdot 5 \cdot 6}{2^4 \cdot (1 \cdot 2 \cdot 3) \cdot (2 \cdot 4 \cdot 6)} \cdot \frac{\pi}{a^7} = \frac{6! \pi}{2^7 (1 \cdot 2 \cdot 3)^2 a^7} = \frac{6! \pi}{2^7 (3!)^2 a^7}$ (3)
- Now generalize $\int_0^\infty \frac{dx}{(x^2+a^2)^{n+1}} = \frac{(2n)!\pi}{2^{2n+1}.(n!)^2a^{2n+1}}$

13) Evaluate
$$\int_{0}^{\pi/2} \frac{dx}{a^{2}sin^{2}x+b^{2}cos^{2}x}$$
 and show that $\int_{0}^{\pi/2} \frac{dx}{(a^{2}sin^{2}x+b^{2}cos^{2}x)^{2}} = \frac{\pi}{4ab} \left(\frac{1}{a^{2}} + \frac{1}{b^{2}}\right)$

$$\frac{50^{11}}{I} = \int \frac{dn}{a^2 \sin^2 n + b^2 \cos^2 n}$$

Dividing numerator & denominator by cosm

$$I = \int \frac{\sec^2 n}{\cos^2 \tan + b^2} dn$$

$$\int \frac{\partial^2 \tan^2 n + b^2}{\partial t \tan^2 n + b^2} dn$$

$$Put \quad t = tann => \sec^2 n dn = dt$$

$$\begin{aligned} x = 0, \quad t = 0, \quad \text{when } x = \frac{\pi}{2}, \quad t = \infty \\ J = \int_{0}^{\infty} \frac{dt}{c^{2}t^{2} + b^{2}} = \frac{1}{c^{2}} \int_{0}^{\infty} \frac{dt}{t^{2} + (b/a)^{2}} \\ = \frac{1}{c^{2}} \cdot \frac{\alpha}{b} \left[t c n^{2} \left(\frac{\alpha}{b} \right) t \right]_{0}^{\infty} = \frac{1}{ab} \left(\frac{\pi}{2} - \sigma \right) \end{aligned}$$





Apply DUIS, Differentiate with a

$$\int_{0}^{T/2} \frac{-dn}{(a^{2} \sin^{2}n + b^{2} (os^{2}n)^{2})} = \frac{T}{2b} \left(\frac{-1}{a^{2}} \right)$$

$$\frac{T1/2}{\int \frac{8in^2n \, dn}{\left(a^2 \sin^2 n + b^2 \cos^2 n\right)^2}} = \frac{T1}{4ab} \left(\frac{1}{a^2}\right) \qquad (D)$$

/ I

2

$$\frac{\pi V^2}{\int \frac{-d\pi}{(o^2 \sin^2 \pi + b^2 \cos^2 \pi)^2}} \frac{2b(os^2 \pi)}{= \frac{\pi}{2a} \left(\frac{-1}{b^2}\right)}$$

$$\frac{\pi V^2}{\int \frac{\cos^2 \pi}{(o^2 \sin^2 \pi + b^2 \cos^2 \pi)^2}} = \frac{\pi}{4ab} \left(\frac{1}{b^2}\right) - 3$$

$$\frac{\pi}{b} \left(\frac{1}{b^2}\right) - 3$$
Adding (2) A (3), we get the required conserved